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

 is the continuative use of the postpositive conjunction DE, meaning “Then; Now” plus the genitive absolute construction, in which the masculine singular noun HĒLIOS, meaning “the sun” serves as the ‘subject’ of the genitive masculine singular aorist active participle of the verb ANATELLW, which means “to rise” and functions like a finite verb.


The aorist tense is a constative/historical aorist, which describes the past action as a fact.


The active voice indicates that the sun produced the action.


The participle is temporal with the action of the participle preceding the action of the main verb.  This can be translated “after the sun rose.”

Next we have the third person singular aorist passive indicative of the verb KAUMATIZW, which means “to burn up: it was burned up.”


The aorist tense is a constative/historical aorist, which describes the past action as a fact.


The passive voice indicates that the new plant received the action of being burned up.


The indicative mood is declarative for a simple statement of fact.

“Then after the sun rose, it was burned up”
 is the additive use of the conjunction KAI, meaning “and,” followed by the preposition DIA plus the accusative of cause (translated “because”) from the neuter singular article, which functions as a personal pronoun “it” plus the negative adverb MĒ, meaning “not” and the accusative present active infinitive of the verb ECHW, which means “to have.”


The present tense is a descriptive present of the present state of being.


The active voice indicates that this plant produces the action of not having something.


The infinitive functions like a finite verb in this accusative-infinitive construction.

Next we have the accusative direct object from the feminine singular noun HRIZA, meaning “a root.”  This is followed by the third person singular aorist passive indicative of the verb XĒRAINW, which means “to be dried out.”


The aorist tense is a constative/historical aorist, which describes the past action as a fact.


The passive voice indicates that the plant receives the action of being dried out.


The indicative mood is declarative for a simple statement of fact.

“and because it does not have a root, it was dried out.”
Mt 13:6 corrected translation
“Then after the sun rose, it was burned up and because it does not have a root, it was dried out.”
Explanation:
1.  “Then after the sun rose, it was burned up”

a.  The Lord continues the parable of the seeds and the various soils with an explanation of what happens to the seed that has fallen on a thin layer of soil over rocky ground.  The sun beats down on the thin soil, making it and the rocks beneath it warm, which helps initiate quick growth.  But the continuing heat of the day causes the soil to dry out and the rocks beneath the soil to get hot.


b.  The continuing action of the heat of the sun eventually burns the roots of the plant, causing it to wither and die.  The young plant cannot bear the continuing increase in heat.  The heat of the sun illustrates the pressures and problems of life on the person involved.

2.  “and because it does not have a root, it was dried out.”

a.  The Lord finishes the explanation by giving us the direct cause of the plant’s problem.  The plant (person) doesn’t have a long, firm, established root in their relationship with God.  Their root is shallow and susceptible to the problems, pressures and difficulties of life.


b.  Therefore, each problem and difficulty (the heat of the sun) causes more and more dehydration of the word of God in the life of this person until they cannot continue to live.  They eventually die for lack of the water of the word of God.

3.  Commentators’ comments.


a.  “Why compare God’s Word to seed?  Because the Word is ‘living and powerful’ (Heb 4:12).  Unlike the words of men, the Word of God has life in it; and that life can be imparted to those who will believe.”


b.  “The reference is to hot days that came early in the plants’ life.  When this happened the little plants were scorched and withered away.  Where the previous verse said they had no ‘depth of soil,’ this one says they had no root; but this amounts to much the same.  Plants that grow in rocky places seem all right at first, but they soon wither away.  Lacking abundance of soil the roots cannot develop, and plants with defective root systems are not equipped to stand hot weather.  They wither away.”
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